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How do we know, regarding those who are liable for lashes?

OVERVIEW

The 71wn states that the o 17 @7y are 7N 2107 only if they became 1nmr after
the verdict of a death penalty was issued to the accused. The X713 explains that this
is derived from the P10 of w912 wo1 which is written' by Pt 079, The X713 then
discusses the rule of 1777 11 PwIW 7°R. Afterwards the X723 asks 1211 n1P%7 *2>0. Our
MooIn explains the question and why the X773 did not ask regarding 1711 117 2277,
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The explanation of the question 1232 n1°p%» °2>11 is from where do we derive that
the 727 0>7v do not receive mpvn (for testifying falsely that someone is 27
mpYn), unless the verdict of Mpo» was issued based on their testimony.

Mmoo asks: . ,
= 71939 191 22990 13 7913 Y¥a ND ININI 9NINN ON)
And if you will say; but why does not the X3 also ask, ‘from where do we

derive the same rule by 112 53%1°, meaning -
- ©759 Y 1T MY 1Y 10N PRYUN PNT

That the 1"V do not pay the money unless there was a final verdict (requiring
the accused to pay) based on their testimony.

Mo0IN answers:
= 1357 9V 1Y 12UIT MY 235727 10T Y YN

And one can say; that just as by mws: 5197 we expound the rule that the 1"V are

not killed, unless there was a final death penalty verdict for the accused, which we
derived - ;
- PRMT D1Y2 25NT “YaNa YT NIPN

From the ?op of w12 woi which is wri;ten 6regarding 'Y -
- P RY TPY O 25057 Pt 1Y 1IN 2505 19 115

! X2,0 (2°voWw) 0°727. The 1"V are only killed if the wa1 of the accused was sentenced to die.
% The word w11 in Moo usually denotes that MooIN is negating another possible explanation of the Xax. Possibly
there could be an alternate explanation that the X773 is asking how we know that by np%n» *2»n (also) the rule is that
17011 WY PR (not only by minon 2°m; see ‘Overview’). Alternately perhaps the question is how do we know if the
accused already received mp>n that the v do not receive mpon. [These two alternate explanations (of NIpPon *2%n
1711) would also would explain why the &3 does not ask 1711 1% 21 (see further this mooIN), for by wn *2»n it is
mooIn view that "7 11 WY and that the 1"'¥ pay even if the accused paid already (see o°7¥1 17"7 2,7 "2 '01n).] MdOIN
however, rejects these explanations and interprets the X3 as >"w9 does (P71 21 17"72). See “Thinking it over’.
3 The n"27 M7 amends this to read *3n 9917 °n1 (instead of °2*11 12 "n1).
* See footnote # 2.
% X000 (ovow) o27. See footnote # 1.
6 93 71 is understood to mean something which is given from hand to hand; namely, money.
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Similarly, ‘money’ is also written by 2%amyr 237v as it states; ‘a hand for a

hand’ -
2271 90Y 1Y 119359 192U 1P05UN RINNNT (3,35 97 mama) 119393 Y7917

From which we derive that 1"y must pay money, and we expound from this

108 as well, that they do not pay unless there was a 357 93, just as we expounded
w913 W1 to require a 17 Inx before the 1"y receive ann.?

SUMMARY
We derive that by 17n 271 also the 1"V do not pay unless there was a 17 713 from
the 109 of 722 7 (just as we derived this rule by 710 from w511 wol).

THINKING IT OVER
Why indeed does mooin reject the alternate explanations (mentioned in footnote #
2)?

" The X"w m» and 0" are »on7T T°2 7 DM (omitting 7P R?) which is the P09 in footnote # 5. (The w7 is also in
X,79 (221177 279) P"2.) In 2,27 M3 it also cites this P05 of 72 7> (not 7P X7 79 1°).1

¥ Just as we derive from w512 w91 (which is referring to capital cases) that the 1"y are not punished with 7in" unless
there was a 1°7 7nx of in°n, the same applies to 7°2 7 (which is referring to monetary cases) that the 1"y do not pay

unless there was a 1°7 3 requiring the accused to pay.
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